DG Sysking and Multiple dimensions this week
Recall the scaler problem
$$\mathcal{U}_{L} + \alpha \mathcal{U}_{X} = 0$$

 $\begin{cases} \psi_{t} = \psi_{t} \mathcal{U}(x) + \psi_{t} = -\alpha \psi_{t} \mathcal{U}(x) + 0 + \alpha \psi_{t} \mathcal{U}(x) \\ \psi_{t} = \chi_{t} \mathcal{U}(y) + \omega \psi_{t} \mathcal{U}(x) \\ \psi_{t} = \chi_{t} \mathcal{U}(y) + \omega \psi_{t} \mathcal{U}(x) \\ \psi_{t} = \chi_{t} \mathcal{U}(y) + \omega \psi_{t} \mathcal{U}(x) \\ \psi_{t} = \chi_{t} \mathcal{U}(y) + \omega \psi_{t} \mathcal{U}(x) \\ \psi_{t} = \chi_{t} \mathcal{U}(y) + \omega \psi_{t} \mathcal{U}(x) \\ \psi_{t} = \chi_{t} \mathcal{U}(y) + \omega \psi_{t} \mathcal{U}(x) \\ \psi_{t} = \chi_{t} \mathcal{U}(y) + \omega \psi_{t} \mathcal{U}(x) \\ \psi_{t} = \chi_{t} \mathcal{U}(y) + \omega \psi_{t} \mathcal{U}(x) + \omega \psi_{t} \mathcal{U}(x)$

Ignore pink $\int \phi N_{t} - a \phi_{x} N dx = -a \phi N(x_{j+1}) + a \phi N(x_{j})$ termso $\int du_{t} - a k u dx = -a \phi u^{*}(x_{f}) + a \phi u^{*}(x_{f-1})$ $\phi \longrightarrow \mathcal{U}$ and $\int \mathcal{U}_{x}\mathcal{U}dx = \frac{1}{2}\mathcal{U}^{2}(b) - \frac{1}{2}\mathcal{U}^{2}(a)$ (Ignored (outer house) $\int u u_{\pm} dx = \alpha u^{R} u^{*} - \alpha u^{L} u^{*} - \frac{1}{2} \alpha u^{R} u^{R} + \frac{1}{2} \alpha u^{L} u^{L}$ $= \alpha \left(\left(\mathcal{N}^{R} - \mathcal{U}^{L} \right) \mathcal{N}^{*} + \mathcal{U}^{L} \mathcal{U}^{L} - \mathcal{N}^{R} \mathcal{U}^{R} \right)$

$$\alpha\left(\left(\mathcal{U}^{R}-\mathcal{U}^{L}\right)\mathcal{U}^{*}+\frac{\mathcal{U}^{*}\mathcal{U}^{*}}{2}-\frac{\mathcal{U}^{R}\mathcal{U}^{R}}{2}\right)=\sum_{k=1}^{N}\mathcal{U}^{*}=\beta\mathcal{U}^{L}+(I-\beta)\mathcal{U}^{R}}\left(\frac{\mathcal{U}^{R}-\mathcal{U}^{L}}{2}\right)\beta\mathcal{U}^{L}+(\mathcal{U}^{R}-\mathcal{U}^{L})(I-\beta)\mathcal{U}^{R}+\frac{\mathcal{U}^{L}\mathcal{U}}{2}-\frac{\mathcal{U}^{R}\mathcal{U}^{R}}{2}\right)=\alpha\left(\mathcal{U}^{L}\mathcal{U}^{L}\left(\frac{1}{2}-\beta\right)+\mathcal{U}^{R}\mathcal{U}^{R}\left(\frac{-1}{2}+I-\beta\right)+\mathcal{U}^{L}\mathcal{U}^{R}\left(\beta+\beta-1\right)\right)=\alpha\left(\mathcal{U}^{L}-\beta\right)^{2}\left(\frac{1}{2}-\beta\right)+\mathcal{U}^{R}\mathcal{U}^{R}\left(\frac{-1}{2}+I-\beta\right)+\mathcal{U}^{L}\mathcal{U}^{R}\left(\beta+\beta-1\right)\right)=\alpha\left(\mathcal{U}^{L}-\mathcal{U}^{R}\right)^{2}\left(\frac{1}{2}-\beta\right)-\mathcal{S}_{0}$$
 if $\alpha<0$, $\beta<\frac{1}{2}<0$.

$$let \quad S = (\overline{v}, \overline{v}_{2}) = \frac{1}{\sqrt{2}} \begin{pmatrix} | & | \\ | & | \\ | & -1 \end{pmatrix} \text{ and introduce}$$

$$\begin{pmatrix} q \\ r \end{pmatrix} = \frac{1}{\sqrt{2}} \begin{pmatrix} | & | \\ | & -1 \end{pmatrix} \begin{pmatrix} g \\ n \end{pmatrix} = \frac{1}{\sqrt{2}} \begin{pmatrix} g + n \\ g - n \end{pmatrix} \quad Characterishic$$

$$variables$$

$$\frac{\partial}{\partial E} \begin{pmatrix} g \\ n \end{pmatrix} + \begin{pmatrix} o & | \\ | & o \end{pmatrix} \frac{\partial}{\partial x} \begin{pmatrix} g \\ n \end{pmatrix} = o \iff \frac{\partial}{\partial E} \frac{s'/q}{r} + \begin{pmatrix} o & | \\ | & o \end{pmatrix} \frac{s'/q}{s \times r} \begin{pmatrix} q \\ r \end{pmatrix} = o$$

$$\frac{\partial}{\partial E} \begin{pmatrix} q \\ r \end{pmatrix} + \frac{s \begin{pmatrix} o & | \\ | & o \end{pmatrix} \frac{s'/q}{s \times r} \begin{pmatrix} q \\ r \end{pmatrix}} = o \iff \frac{q_{E} + q_{X}}{r_{E} - r_{X}} = o,$$

$$\frac{\int}{\int E} \begin{pmatrix} q \\ r \end{pmatrix} + \frac{s \begin{pmatrix} o & | \\ | & o \end{pmatrix} \frac{s'/q}{s \times r} \begin{pmatrix} q \\ r \end{pmatrix}} = o \iff \frac{q_{E} + q_{X}}{r_{E} - r_{X}} = o.$$



This approach works in ID and one can
convert to 8, a whenever needed.
In 2D the chara cleristics will be different and
we cannot (typically) work in characteristic variables.
Let's try to work directly with
$$\overline{w}_{t} + A \overline{w}_{x} = 0$$
.
Suppose that all eigenvalues of A are real
and that the is a full set of eigenvectors
(The problem is hyperbolic)

Also assume that
$$\max\{|\lambda|\} \leq \lambda_{LF}$$
 then
We can use the scheme:
 $\chi_{HI} = \left[\overline{\phi}^{T} (A(\overline{w} - \overline{w}^{T})) \right]^{dH}$
 $\int \overline{\phi}^{T} \overline{w}_{L} dx + \int \overline{\phi}^{T} A \overline{w}_{X} dx = \left[\overline{\phi}^{T} (A(\overline{w} - \overline{w}^{T})) \right]^{dH}$
 $\chi_{J} = \lambda_{X} F_{F} [ED_{F}] S_{F}$
 $\psi hve A \overline{w}^{T} = A \left(\overline{w}_{T}^{T} \overline{w} \right) + \frac{\lambda_{LF}}{2} (n \overline{w} + n^{T} \overline{w}^{T})$
 $= A \{ \{ \overline{w} \} \}^{2} + \frac{\lambda_{LF}}{2} E[\overline{w}]]$
Here "-" means on my elem and "+" on neighbour.

 $\int \phi S_t + \phi \mathcal{U}_X \, dx = \left[\phi \left(\mathcal{U} - \mathcal{U}^* \right) \right]_{X_t}^{X_{t+1}}$ $\int_{X} \Psi \mathcal{U}_{L} + \Psi \mathcal{G}_{X} d_{X} = \left[\Psi \left(\frac{9}{2} - \mathcal{G}^{X}\right)\right]_{X_{J}}^{X_{J}}$ Here I choose n = -1

Adding up contributions we find on element j^{*} $S\left(\frac{1}{2} - \frac{1}{2}\right) - S\left(\frac{1}{2} - \frac{1}{2}\right) + \frac{1}{2}\left(\frac{1}{2} - \frac{1}{2}\right) - \frac{1}{2}\left(\frac{1}{2} - \frac{1}{2}\right)$ $= g^{\dagger}u^{\dagger} - \bar{g}\bar{u} + u^{\star}(\bar{g} - g^{\dagger}) + g^{\star}(\bar{u} - u^{\dagger})$

$$g^{+}u^{+} - g\bar{u} + u^{*}(g\bar{g} - g^{+}) + g^{*}(\bar{u} - u^{+})$$

$$g^{*} = \frac{1}{2}(g^{+} + g\bar{g}) + \frac{\lambda_{max}}{2}(n\bar{u} + n^{+}u^{+}) = \frac{1}{2}(g^{+} + g\bar{g} + n^{+} - n\bar{f})$$

$$u^{*} = \frac{1}{2}(u^{+} + u\bar{v}) + \frac{\lambda_{max}}{2}(n\bar{g} + n^{+}g^{+}) = \frac{1}{2}(u^{+} + u\bar{v} + g^{+} - g\bar{g})$$

$$g^{+}u^{+} - g\bar{u}\bar{u} + \frac{1}{2}(g\bar{g} - g^{+})[(g^{+} - g\bar{g}) + bu^{+}u\bar{u}] + \frac{1}{2}(u^{-} - u^{+})[(u^{+} - u\bar{u}) + g^{+} + g\bar{g}]$$

$$= g^{+}u^{+} - g\bar{u}\bar{u} + \frac{1}{2}g\bar{u}l^{+} + (g\bar{g}\bar{u}) + g^{+}u\bar{u} - g^{+}\bar{u}\bar{u} - \frac{1}{2}(g\bar{g} - g^{+})^{2}$$

$$+ \frac{1}{2}u\bar{u}g^{+} + (\bar{u}\bar{u}g\bar{g}) - (1-u^{+}g^{+} - \frac{1}{2}u^{+}g\bar{g}) - \frac{1}{2}(u\bar{u} - u^{+})^{2}$$

$$u_{max}^{+}u_{max}^{-} - \frac{1}{2}(u\bar{u} - u^{+})^{2}$$

$$u_{max}^{+}u_{max}^{-} - \frac{1}{2}(u\bar{u} - u^{+})^{2}$$

$$u_{max}^{+}u_{max}^{-} - \frac{1}{2}u^{+}g\bar{u} - \frac{1}{2}u^{+}g\bar{u} - \frac{1}{2}u^{+}g\bar{u} - \frac{1}{2}u^{+}u_{max}^{-} - \frac{1}{2}u^{+}g\bar{u} - \frac{1}{2}u^{+}u_{max}^{-} - \frac{1}{2}u^{+$$

$$\begin{split} \mathcal{U}_{\underline{L}} &= \mathcal{U}_{XX}, \quad -\pi \leq x \leq \pi, \, \text{find} \\ \mathcal{U}_{\underline{L}} &= \mathcal{U}_{XX}, \\ \mathcal{U}_{(X,0)} &= \sin(x) \\ \text{has solution} \quad \mathcal{U}_{(X,1)} &= e^{-f} \sin(x) \\ \text{has solution} \quad \mathcal{U}_{(X,1)} &= e^{-f} \sin(x) \\ \text{To make this book the a first order } \\ \text{To make this book the a first order } \\ eq. \quad we \quad write \quad \frac{\partial}{\partial t} \mathcal{U} &= \frac{\partial}{\partial x} \mathcal{U}_{X} \\ \end{split}$$

$$\frac{\partial}{\partial t} \mathcal{U} = \frac{\partial}{\partial x} \mathcal{U}_{x} \quad \text{This ducing } \begin{array}{l} q = \mathcal{U}_{x} \\ \text{we have} \\ \mathcal{U}_{t} = q_{x} \\ q = \mathcal{U}_{x} \end{array} \quad \begin{array}{l} \int \varphi \mathcal{U}_{t} - \varphi q_{x} \, dx = -\left[\left[(q - q_{t}^{*}) \right] \end{array} \right] \\ \int \varphi \mathcal{U}_{t} - \varphi q_{x} \, dx = -\left[\left[(q - q_{t}^{*}) \right] \end{array} \right] \\ \left[\int \varphi q \, dx = \int \mathcal{V} \mathcal{U}_{x} \end{array} \quad \begin{array}{l} \end{array} \quad \begin{array}{l} \left[\left[q - q_{t}^{*} \right] \right] \end{array} \right] \\ \end{array}$$

An alternative is to choose so-called local DG (LDG) fluxes $q^{*} = q^{+}$, $\mathcal{U} = \mathcal{U}$ miss gives optimal or $q^{*} = q^{-}$, $\mathcal{U}^{*} = \mathcal{U}^{+}$ this gives optimal alternating sides for convergence. \mathcal{U} and q.

At boundaries one may enforce Dirichlet
be by outside states
$$\underline{x^{\dagger} = -\overline{x}}, \ \underline{q^{\dagger} = q}$$

or Nennam BC as $\underline{u^{\dagger} = u^{\dagger}}, \ \underline{q^{\dagger} = -q}$

Show program (results for

$$M_{L} + \left(\frac{u}{2}\right)_{X} + \left(\frac{u}{2}\right)_{Y} = (U_{XX} + u_{YY})^{2}$$

Non linear terms. A safe but show way to implemed a non-line term is $\int \phi u_{\underline{L}} - \phi_{\underline{X}}(\frac{u^{2}}{2}) dx = \left[\phi(\frac{u}{2})^{\underline{X}}\right]$ Treated with Lax-Friedrich Eval 11 on quadruhue fher nodus, segurare, integrates $\left(\frac{U}{Z}\right)^{2} = \left(\frac{(u^{\dagger})^{2}}{Z} + \frac{(u)^{2}}{Z}\right)^{2} + \frac{11}{2}\left(\frac{u}{Z}\right)^{2}$ Note mot dig is 3. des (4)